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Westuff
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stuff
- Subtractors

· I's complementcode.
subtraction using

addition circuitry.
- Comparators
- Multipliers
- Demultiplexers
- Encoders



Sequential Circuits



Blasphemy

TRIGGER WARNING

FOR MATH PEOPLE

!
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ch/bistable multivibrator

-D

-
-

- latches onto a value

-has two stable states
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flip-Hop--------
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Note:Not the only way to achieve edger triggering
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flip-flop
Preset and clear
nee

- FR9-
-LK Directly connects to

-k5- the inner NAND gates
to asynchronously set

or reset the flip-top.
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Registers-
- use flip-flops to store data



Registers-
-use flip-flops to store data

- input/outputs can be serial/parallel
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Counters
-

- they count, duh.

-rather, they cycle through a

sequence of states.



luters (mod-4 counter)
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00 01



luters (mod-4 counter)
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↓

Cycles 00 -> 01- 10

through -12



luters
- can stop before 2-1

and start

after 0.

· use the outputs to create a term thatdenotes

the number you wantto stop at.

· feed the output of thatterm into appropriate

presetsand clears.



M
- bunch of memory

cells arranged in a
matrix.

- address decoders find out which row

and column to read from /write to.


